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10.
11.

Instructions to the Candidates

The Question paper is in the form of Question Booklet with 50 questions. Separate answer sheet is providing
for answering.

Question booklet series code (B) printed on the right hand top corner should be written on the answer sheet in
the place provided. '

Each question is provided with multiple answers a, b, ¢ and d, out of which only one of them is unambiguously
correct. Write the correct choice in the space provided in the answer sheet.

The candidates have to use only blue/black ink ball point pen for the written test.

Candidates should not write their names, roll numbers or affix their signatures anywhere in the answer sheet
except in the space provided, failing which the candidature will be disqualified.

Answer all questions. All question carry equal marks. No negative marks for wrong answers.

Once the question is answered, it should not be overwritten / corrected. Multiple answers and/or
corrected answers for a question will be regarded as wrong answer.

At the end of the test, the candidate should hand over the answer sheet to the invigilator.

The question booklet can be retained by the candidate.

Candidates are not permitted to leave the examination hall during the first hour of the examination.

Candidates are not permitted to carry any reference books, logarithm table, calculators, mobile phones, etc., to

the Examination Hall.
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1) ©@009jo@)M@ITE  o® @RSUNHESIS  @)SIO®o 80 quace)=

(]G Ho6mo?
frrefaRadt 4 @ = Protaren & Fagfaarg e eE-ar 87

Which of the triangles is an isosceles triangle having the three angles:

A. 400,509, 900 B.. 309, 60Y%, 900 C. 459, 459,900 D.35%, 559, 90°
2) ol om.al. arlloass 60} &imilen (oe almioldsno .......... @Ry6).
10 QY. ATHRATA T Id BT T8 STBA ......enss . B 2 |

The surface area of a cube of size 10 cm is
A. 60cm? B. 600cm? C. 6cm? D. 60mm?

3) ®969aj0@)M@NEE agoalle AN MUosUY aBO?
FrefaReal § 999 g1 T BH-6 27

Which of the following numbers is the greatest

A.3/5 B.3/50 C.30/5 D. 5/30

4) 80) a0 oge@ild 26M1ee)01@d 60 &l.a’l. N®IEE MERIGIEe)MN). 6 &).a7.
@RG:OLIW)BS L6\ OHNGT af)@0)1G2j0008 @RG) af)l@ MAWO af)S)Ee)0?

og. 6 allg  enil. 1 2emlee}d @Vl 10 @emleeyd Al 10 almg

T BRR g9 60 A /e ot 1y w gdar g1 6 5. ) Ria g wm
Td qga & forg 99 foha w7 o ?

V. 6 fime &, 1 dger &, 10 = 1. 10 e

A fire engine travels at 60 kmph. How long will it take to reach a destination 6 km?

A. 6 minutes B. 1 hour C. 10 hours D. 10 minutes.

5) 8) ellgd wlmealend aflel 35 0)alIeM. 1400 E)ITES ag@ WITVED
QUO6BRIM dh¥lw)o?

of). 4 efigd  enil. 400 2lgd @Vl 40 efigd AW AP 2L
TS oilex Sd &t ofa 35 ¥9¢ 21 1400 ¥V W foha=r Sivel @ie Hehdr &7
T 4 . 4000, @40 & T W po of A
The cost of one litre diesel is Rs.35. How much diesel can be bought for Rs.1400?
A. 4 litre B. 400.litres C. 40 litres D. None of these
6) @09ajo@)M Helned UBGUERSIE8 ag@oem @RUWlnIBaHo?
frr=ferRad defex aut # & 1fday s=-|1 87
Which of the following calendar years is a leap year?
A. 2011 B. 2012 (2013 D.2014
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7) 80) 25@1eHEMOTIOE 06N8) QAIKDERUE WLN(®AC 3 emVdIa’lgole 4 emual

‘lgo;mom‘)’. )80 COTI|06TD gmﬂe@:oemm’lm@ S TG0 @y
@186} 0.

Teh AR & S 91 HASE 3 AAL JUr 4 /A 1 39 wHaiy B &
FUl B

The two sides of a right angled triangle is 3 cm and 4 cm respectively. The
hypotenuse of this right angled triangle is

A. 6mm B.5cm C.5m D. 7cm

2
8) &) Meamecmeng alnieldeme 121 emu.a’l. @M. oD MR IO

B)RC connrs @em).

T FHAGHST BT &hel 121 A &1 30 A B g ... 2|

The area of a square is 121 cm?2. The side of this square is

A.11lcm B.11mm C.1.21cm D.12.1 cm

9) 80y aflsjodmdles 8o} alolemolad 600-@8 150 20866 &5l &5l 20dseslend

wr

053100715210 15 - S @R6rT)

v fqemefl @ v udlem § 600 ¥ | 150 3% Uy g1l U 3fpi @t wicreraan

A student got 150 marks out of 600 marks in an examination. The percentage of
marks obtained is

A.2.5% B.250% . 25% D.0.25%
10) 80) ©2J00000), 9 DO DSIB®HB HalcWIV]a], AlEMS] PWOAYC Al®IM
eus] aflow)mss s80) Elow] 3 Flaimve 8®:06mE Al IWos)o. 9 oelend

DUSIBHBHUD Dalcola], aloms] soano @remus] aflclw)mes 4 Elomeud
O:H30M af)(@ BFlOITVOAS)E)0?

af). 3 Glauo  endl. 4 Blaumue Ul 5 Alaumue  awl. 6 Blaimuo

TP HG9, 9 39 @I gel A 3 &l ¥ R 10 pe FI iR 15 e 4 s
R TGN @ 9 $F @t 321 F 10 P FIY R 5 pe A 4 TR TH & o
o fod evr?

V. 3 f& §1. 4 feq . 5 feq <l 6 faT

A mason can complete a brick wall of size 10 ft high, 15ft wide using 9 inches bricks
in 3 days. How long will be take to make 4 walls of size 10ft high, 5ft vide using 9

inches bricks?

A. 3 days B. 4days C. 5days D. 6days

11) @069oJ0@IM@I@D a@@06N) 3/20 g EMIVoAILE® MU)allafle)ma?
frfeRadl § 9 3720 = @1 Ffad ST B9 BE-A1 82
The fraction 3/20 can be expressed as,

A.0.15 B:1.5 C.15 D.0.015
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12)

13)

14)

15)

16)

17)

WoW)alled ©OMSRONG GRSAT AG@OENE ........ GRYEM.

The percentage of Nitrogen in air is about
A21% _ B.28% C.30%

100°C ag)mMm® &HE3ANM 9aIcIle] af)Py®)d:.
1000C B! By # s o |
Express 100°C in Kelvin

A 212K B 273K £.373K

MIOPJOW)MN VRIS o a)BODWOLe)E:
fr=farlaa aHfiexo o g1 SRy |

Complete the balanced equation
ZHa 20 —— oo

A.H20 B.2HO C. 2H20:

zaiowilond MdGlaHs 1)0)@io ag)@WIEM?
STel BT ATUfeTe gicg fobaar &7

Specific gravity of water is

D.78%

D.100 K

D. 2H:0

A 1.0 B.1.0 g/cm3 C.10 D.10 g/cm3

10 @Roallwd eeBL®] (alablafldee)ma@]a) 5 6o (aITEOOWE O @D

DaleWONEHOESENE aBQMUjo &0 GIUBESE.

10 UFERR g7 gatE & g 5 oW ARRIg 1R STy sFdTel gaH dleedl

What is the minimum voltage applied across a 5 ohms resistance to allow 10

amperes current flow

A5V B. 500V C.50V

D.0.5V

ag)Uoqy ©@30S5)@SlW)es WlLEEDIES MeBBUdee @RMBAUO S}  GROD

0l 23830 af)(® WIWIT1Ee)0?

af). latm -@3 &)S)@@ 6nfl. 1atm -@ M0l (UL 1atm Wl LAO@IM2L]

HIEE YN B dle! R aigAsed &9 fha-r gmm?

Q.latm@[fﬂﬁl?ﬁ S, 1atm 9 9 9l 1atm @Wﬁ@?ﬂﬁ

As you climb up to Mt.Everest, the atmospheric pressure at its peak is

A. higherthan1atm. B. lowerthanlatm. C. 1atm.

D.none of these
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18) 80) Glumeml@d ooalleal 4.15 M@ OO 2.25 UOOW)8S MVEWAIT]
wWlow m)aflafl #O)MEO@?
af). 610 alms enil. 10 @emlee)d@ vl 600 almls

wl. 10 aemlee)d@ 15 almls

foreft T a7 & 4.15 991 qafed & 2.25 9oF WRTe 96 &) Gaaay feaey &7

TU. 610 fiFe . 10 g +T. 600 fiere 1. 10 g2 15 fime
What is the time-duration between 4.15 am and 2.25 pm on the same day
A. 610 minutes B. 10 hours C. 600 minutes D. 10 hours 15min.

19) 80) sialeeal 5 &)Sl&8)es O_I(Q)(T‘Tl): 22, 24, 26, 20, 18 agMIEBREOMMOET). @)
szle} vEIUE] AU Agl®?

ag). 18 cwwmy enil. 25 QY @l 23 cwoqy wl. 22 Q)
T & & Ul sl @i g 22, 24, 26, 20, 18 1 99 I &t sl g

fopery &
T 18 T d1. 25 |11 qr. 23 gt 3. 22 |

The age of 5 boys of a team is 22, 24, 26, 20, 18. The average age of the team is
A. 18 years B. 25 years C. 23 years D.22 years

20) 80013 =myadl 10, 2011 0)@@d oglafll@d 10, 2011 e (eeme) Elaumvano
DU36aeS) agen Flaimvale el §aIP?). GRWIWB EReE afl® ElArvo
c=oell §2100®)?

af). 91 dlauave  endl. 90 Alaumue MUl 92 Blaumue  awl. 89 Blaumuoe

T amedt ¥ oadr 10, 2011 et 10, 2011 % (I R afed) @t =)
# o fHar] S po fha &F & fear?

7. 91 = . 90 fa= . 92 faq g1, 89 f&=

A man worked on all days from Jan 10, 2011 to April 10, 2011 (both days
inclusive). How many days did he work?

A. 91 days B. 90 days C. 92 days D. 89 days

21) €003 1000 ®)al 3 AUBHEBOMSE 15 V@AIMo TVIWIVEM alelldes Mol
aj). 3 UBaHo HPIW)EMUUT BRWIBHLE B1SAN @)d: ag)l®?

TS el 4 1000 %y &1 fder 3 wret & forw 15 wfierd wRe &9 o) fpan |
3 AT ¥ B TR I9d! fremaret i fhaet R

A man invested a sum of Rs.1000 for 3 years at 15% simple interest. What amount
does he get at the end of 3 years?

A.Rs.1450 B.Rs.14500 C.Rs.145 D.Rs.45
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22)  aim:gloal alay Mloomla) &ooemo
Tl & BY T BT BRUT RT hem 87
The green colour in leaves is due to
A £689600a0163/FARIB/Chlorophyll
B.  &e8001m/FAR"/Chlorine
C.  ®odeniemd/ ®&- / Carbon
D

eems=m/ :|l$§ ST/ Nitrogen

23)  elw)es Gra)eMEem ealclal

gt & 31&r B AT fhaAr 87
The axis of earth is inclined by
A. 900 B. 450 C.23140 D. 600
24)  oy@0&HGHeMo B)alo @)A1ILNENBOE:ION BIVEMo a@@IeNE .. ..... @em.
o & BRUT Gl R BINATSN W@ROT BN . ......... ... gl
Acceleration due to gravity on earth is approximately
A.9.8 m/s? B.98m/s? C.980 m/s?2 D.9.8 cm/s?
25)  0eUBH®] af)(M®) ........... O3 (aJUOaDR06.
feoreft ........ T Ya1g Il © |

Electricity is generally the flow of

A Glal0BZ06M) 8165 /AICIA! 1/Protons

B. SDRISG(SO6M)dH8)eS /ISl ®l/Electrons
C. MLGIS06M)BS)6S /G IHI BT/Neutrons

D. @RQEEBB)eS/URHTIAI BI/Atoms

26) (0000 MMIW] (al®la0elalee}a1Mm (OLIEBWRES ......... Moo 6&0S)
S6)M).
T BT URIGc el GRE PR & oI FI& Bl ........ <7 far S g

To achieve good reflection of light, surfaces are painted

A. oaaog:?;l’/ﬂv"l?lT/Black
. eugs/ H%ha/White

B
C. ala)/ B%1/Green
D. QJgOJrﬂ /<Tel/ Red

27)  aflsy@glenl aldal®oos aUlellinzo)@slod 9aewonilaflelee)m Ao
aB®?
XY WA F N F fAforest § wr-wn i w87
The gas used in domestic cooking cylinders is
A. mVlaged.e. AN/ CNG B. ®osmulmad /3iTeRioT/0xygen
C. ag)@d.al.e2). /UAUISI/LPG D. eem(se=ad/ASEIS/Nitrogen
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28)

29)

30)

31)

@) afl (al»H0UBo ag)(MIBI ERAHOBIES)MNE)

g gHT FT Aqe9 §

UV light means

A. @reN2@ CUIMIo 6)6)&1((';)'/31.@? dTFdH ©lTg</Under Vacuum light

B. @oU3(SO QOB Io aae_lc‘)'/éﬁ 3Teg] IFaHq ATs</ Ultra Vacuum light
C. @RU3(SO AIWelg sas)elo/a@ dTYeic ¢TgC/Ultra Violet light

D. @ms)co)ocmgmelfs_vlﬁ 3 $© W] FE1/ None of these

®OPOW)M@TS (@] AR@?

frefaRadl # | |81 T @ 8?

Which of the following statement is true?

A. (O6NIBO (alHOUDEETEOIB GANEBIES (ruemIClee)aM),.
ST JepTel & Aol Feral T
Sound travels faster than light

B. (alB>0000 VOENIBEAMEHOU BAUNEBIEE MVEE)Se)M).
eTeT €Al | A A & |
Light travels faster than sound

C. 200107107 OTVECOEHIWB TVIB® &)S)@EI6N.

el URT 9 31t qoe 21 2|

Water is denser than mercury
D. DOEMENTWHE RLIBOHHHIUB TVOMBO &h)S)@ERI0EN).
et @1 99 9 | 3fF wE B 2
Kerosene is denser than water
DOV HG RO GD
af). @2)eEEleadd)o il 89181 MSee)o. M. (OB EB]0e)0
wl. waewom)aal
% BT el I A
g S daR e A wfafsr svm o € s @ g ot T

An ice cube in water will
A. sink B. float C.react D. none of these

2)2ll@d 60 ®).(N00. BOOBE 60) AMaHINT allBME g @OV OENED
wlolee)o?

gt 7R 60 5 71, ¥RaTel U6 SmeHt &Y dee R fhaer 4R g

A man weighing 60 kg on earth, will weigh on moon

A. 60 &1ea10(oall@d @)syoed/60 1. F 3iferd/more than 60 kg
B. 60 &sleaio(noalad @oal /60 f&5 I1. & FH/ less than 60 kg

C. ®y®yo 60 &LWoo. /Al 60 & UT /exactly 60 kg

D. soae@ommyael/sTH H P8 41 &Y/ none of these
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32) af)@d.all.=R].@)6S SHIOMIBHO ........... @R em.
TA R ST, BT AP .oeeeenns gl
The boiling point of LPGis......cccourrrnnennn.

A, 2)0lw)es @®IIMIRICWEHID MY

PHAR & YA F HH/below room temperature
B.  2)01w)es ®oaiMeicwenord my@s)od

BHY & ITYATT ¥ S7ferd/above room temperature

C. 100°%
D. 0°C

33) (OO BH20]  af)@d.all.], ®069a0W)M@IGE  aRG® ©e6M=EMo  Gal@mm
@06 ?

e TA TS, L AR e, BT I 2 |

LPG is composed primarily of

A, GlalGalM)o 6nIy)GSMyo /MU AR &TH/propane and butane

B. @leom)o eooeomyo /AT iR §99/methane and ethane

C. GlaloGalM)o aleLnm)o /MY 3R H2H/propane and methane

D. eniy)eEsm)o DELOM)o /T 3R $29/ Butane and ethane
34) 86w 6afM agm® caimlealls) .......... @6,

SIERCIER MR Gt R gl

Dry ice is frozen
A. Water/Siel/=0i0
B. £0Q6ru6md 060w &08eemunS/HTa- SISIATHFITSS/ carbon dioxide
C. af)@d.all.&)./Ted G S /LPG
D. mulagmd.e2. /301 G5 /CNG

35) ©989oo@)M@GE ag@oem @alS1e60ema@)?

fFrferRead @ sF-T1 Saaeier et 87

Which of this is not flammable?
A. oyoemoeiad/TetH/Gasoline
B. m@%%[ﬁf\ﬁ BT dcl/Kerosene
C. eowelmd saseequrd /Tl ATHFITSS/Ethylene oxide
D. salowom)agy/sH | B Wt 1/ None of these

36) @01W)6S (AORIETIEE MRIRAIWNS] HOEMeS)IN faISdo REIAJET. D
WanEDOA. ... ... DOBIMEOMOBo E2RIo BIEMOSIAM).
gedl B qAE W SUGY AH AW Hed ol § AR T UE b T

Water is most abundant compound on earth’s surface and covers about ........... %
of the planet

A.30% B.50% C.70% D.100%
Page 7 of 10



37) @runleiow myalo @RAIHSEBBSB) M08 U ANSICHOM2 (J0ERWE 6sal)
GaN06rm MMUAB aR@?

mﬁﬁ@agﬁmﬁ%w%wﬁwﬁﬁaﬁwm%?

During fire accidents, the local telephone number for fire emergencies is generally
A. 100 B.101 C.102 D.103
38) ®969aj0@)M@NEB ag@oenT @RUMenIoWw emalsond DaleWOn18e)mM@)?
T g3 & fore FreafeaRaatl #§ & e suam frar oy 27
Which of the following is used to fight fire
A. 086miend 6o So&eeTUW /BT STZIFITSS/Carbon dioxide
B. eo&'mﬁaﬂﬁ/ﬁﬁﬂ?ﬂﬁ:ﬁOxygen

C. anlellwo/E a?lrl/Helium
D. &ego0lad/FAR/Chlorine

39) @euog1@d  qLERNEO)ERAUID  ............. WalenM® amyauy=laiay
MU OEHD0]0H6) M),
4l IR S T L T8 ¥ AMa WRen ghafead g 8

While travelling by a boat, human safety is ensured by wearing

A. 9a0@BoQY/ TTHE/Helmet
B.  ewoudai/gu T=Hl/Goggles
C. o6elad 20867/ ATEH ATHe/ Life jacket
D.  eavadgl acsym¥ /JIRET S[0/Safety shoes
40) ®089ajo)MNBY age®06 86 @2l0)EMI0L06TY =iBimo DENZIdH) (MD)?
frefeeaat & & fea-fop frem & <87 &y &7
Which of the following combinations is essential for combustion?
A. DMWMo, AOW), 2elo /Y, R, Tel/fuel, air, water
B. sncrwmo, ®maale, aejo/‘s‘a:r, 4, STel/fuel, heat, water
C. auo),, ==elo, ®dalo /dTY, N1, TT9/air, water, heat
D. @mwmo, @), ®9alo/ S8, AT, TTY/fuel, air, heat

41) N§Ga00ICINOTIMIBE  MUOWoReM  qVlelsnzdlsel af)@.oll=es =oo
On®?

aﬁgwaswwﬁq%@v%wﬁsﬁ.mmmmé?

The weight of LPG in a standard domestic cylinder is
A.20.2 kg B.14.2 kg C.30.2 kg D.50.2 kg

42)  og@B.al=lw)es al)@emd)alo ag)mm?
T YISt &1 gquf s @y 87
The expansion of LPG is

A. ell®Nooanll  ealesoglwoe  nyony/fifderss Yoo 49/ liquefied

petroleum gas
B. elléll easesogiwoe ex=ed/fdfdrs teifery Sid/liquid petroleum gel

C. all&lal elaloeaim oed/fIfdRrs W99 Sel/liquid propane gel
D. ell&al  eanomiennomy uyomy/fafdre Bty ¥/liquid phosphorous
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43)  ®0o@6enuem OBW BIHOOTVW ..evvvennnn... @6,
BT SIEIATRATZS .ooennnenn. 2|

Carbon dioxide is ..ccoovvvvveieeiivieiiireines
A. &HEBNBOOIM UG B0 /Udh I-Teie iH/a combustible gas

B. =i0immanoe/S8T &1 FHA®H/a supporter of combustion
C. ®120010® HHS)OANE /AT BT FHATel/extinguishes a flame
D. saewom)eey/3TH A $8 Al TEl/ none of these

44) ag@e0d ayoaimaosm [r?h, gafles r @yoa)eh swoale
! Saa € Mrzh, JET r B @ h S 2|

[Irzh, where r is radius and h is height, is the volume of a
A. @06 /BIU/ cone

B. ay@mo/JT/circle

C. aUadl@ad/MeT/ sphere

D. mvlellenzd/ae/ cylinder

45) @Roor EPWIHSS 80) 10 Madl@ed (c@aalmieldeno ......... @6,
T% oI e, st 5593 ¢ 8, &1 98 8% ..., gl
The surface area of a solid sphere of radius r is ................
A.4/3 Ir2 B. 4I1r2 C.4/31r3 D. 2[r2

46) (D)BLREICTHCLILE aB@IM)o @8] HNO; HLIE®)aN). DGaoUd @Y =el
ool aflaga] )81 ........... @R W0)ee)o.

UE ol H HNO; B B o MATE ST 21 39 99 Tl & 9N oo ...
BT

A few drops of HNO; is put into pure water. The pH of this water is

A 7-@d &)s)oed/7 | 31fSE/greater than 7
B. 7-@3 ®)0qi/7 | F9/less than 7
C. 7-a7 ®eiyo/7 & IXT9</equal to 7
D. 2-0Y @)eiyo/2 & INTER/ equal to 2
47) eensowieflond ml@ao ................. 2001 enIMWea|SIvles)a).

FaT S R I Hefid 2

Boyles law relates

A. 0dgaljo ©MaH@OOI0/Td 3R AT/ pressure and temperature
B. 90a¥imoale auydai®al)o/dT9HM 3R 3Id-/temperature and

volume
C. adgano alyoaimaie/aE R 3MITH/pressure and volume

D. sale@om)ae;/3TH | $B 4l €1/ none of these
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48)  anBay mwao ... 20wl SUTWeaS1Blee) ).

I, b P L q Hfrg &

Charles law relates

A MABO,  ©Daei@oq], QUS0al®ro [HETT, dI9q =, Sae /density,
temperature, volume
B. 2330, 2DaHMOA], QUL 0ai®o /ST, A8, SRrgey) pressure,

temperature, volume

C. TMUOB®, Alyoaimo, 20BIH @ [AFTI, Tgay, Eli'?fav‘ﬂl/density, volume,

conductivity
D. @mowomgm%ﬂ/ﬁﬁ q Egs i T&ﬁ/ none of these
49)  eoco(WRM ..., ... @REN).
BIESIST .l gl
Hydrogen is

A &omesoanm OO0 /NP STATHI I¥/a combustible gas

B. RIBIMMVa0IW /TET BT A d/a supporter of combustion

C. oI=ocew OS) O N @) /3T P ﬂ?ﬁ?ﬂ'{/extinguishes a flame
D. @m&@om;m%/‘iﬂﬁ ] P8 4l €1/ none of these

50) eosSmvimad ... ... @6,

A SO0 86001y m U B0 /TP ST Feq/4 combustible gas

B. RIBIMTVa00W/TET FHT qqefE/a Supporter of combustion

€. o200 ows)omyME /AT P SEIIdTel/extinguishes a flame
D. mawwomyag/zTH 95 Al 5TEY/ none of these
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